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ÜBUNG	
  1	
  –	
  Dynamische	
  Kompensation	
  
Aufgabe	
  1	
  
	
  
	
  
Vorsicht:	
  diese	
  Aufgaben	
  wurden	
  vor	
  der	
  Besprechung	
  der	
  Lösungen	
  in	
  der	
  Vorlesung	
  
von	
  mir	
  gerechnet	
  und	
  online	
  gestellt.	
  Für	
  die	
  Korrektheit	
  derselbe	
  übernehme	
  ich	
  keine	
  
Haftung.	
  
	
  
	
  
	
  
1.	
  	
  

	
   FW	
  (s)	
  =	
  
KP(1+TNs)

TNs
•

2
(1+ s)(1+ 4s)

	
  	
  	
  	
   à	
  	
  	
  	
  TN =	
  4	
  

	
  
2.	
  	
   	
  

Fo	
  (s)	
  =	
  
2KP

4s(1+ s)
=

KP

2s(1+ s)
	
  

	
  
	
  

3.	
  	
   1+	
  Fo	
  (s)	
  =	
  0	
  
	
  

	
   1	
  +	
   KP

2s(1+ s)
	
  =	
  0	
  	
  	
   à	
   2s(1+s)	
  +	
  	
  KP =	
  0	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
  	
   s2 + s+ 0.5KP = 0 	
  

Koeffizientenvergleich	
  mit:	
   s2 + 2Dω 0s+ω 0
2 = 0 	
  

	
   	
  
à	
  ω 0 = 0.5 	
  	
  	
  	
  	
  und	
  	
  	
  	
  	
  KP = 0.5 	
  
	
  

4.	
  	
  

	
   FW	
  (s)	
  =	
  
F 0(s)
1+F 0(s)

=

1
4s(1+ s)

1+ 1
4s(1+ s)

=
1

4s(1+ s)+1
=

1
4s2 + 4s+1

=
1

(1+ 2s)2
	
  

	
  

	
   FZ	
  (s)	
  =	
  

−2
(1+ s)(1+ 4s)

1+ 0.51+ 4s
4s

•
2

(1+ s)(1+ 4s)

=
−2

(1+ s)(1+ 4s)+1+ 4s
4s

=
−8s

4s(1+ s)(1+ 4s)+1+ 4s
	
  

	
  
	
  

	
   Polynomdivision	
  +	
  Polstellensuche:	
  	
  	
  	
  	
  	
  FZ	
  (s)	
  =	
  
−8s

(1+ 2s)2 (1+ 4s)
	
  

	
  
	
  
5.	
  Bleibende	
  Regeldifferenz	
  bei	
  einem	
  Sprung:	
  
	
  

xD(∞) =σ (t)(1−FW(s = 0)) =σ (t)(1−1) = 0 	
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6.	
  Bleibende	
  Regeldifferenz	
  bei	
  dem	
  Rampensignal	
   tσ (t) :	
  
	
  

	
  	
  	
  	
  	
  Partialbruchzerlegung	
  ergibt:	
   1
s2
•

1
(1+ 2s)2

=
−4
s
+
1
s2
+

8
2s+1

+
4

(s2+1)2
	
  	
  

	
  
	
  	
  	
  	
  	
  Rückstransformation	
  ergibt:	
   q(t) = −4+ t −8e−0.5t + 4te−0.5t 	
  
	
  
	
  	
  	
  	
  	
  Grenzwertbildung	
  ergibt:	
   lim

t−>0
q(t) = −4+ t −8e−0.5t + 4te−0.5t = t − 4 	
  

	
   	
   	
   	
  
à	
   xD(∞) = t − (t − 4) = 4 	
  
	
  

Bleibende	
  Regeldifferenz	
  im	
  stationären	
  Zustand	
  entspricht	
  der	
  Nachstelltzeit	
  TN=4	
  des	
  
Reglers	
  (à	
  „Schleppfehler“)	
  
	
  
	
  
Aufgabe	
  2	
  
	
  
1.	
  	
   Stationäre	
  Verstärkung	
  

F0	
  (s=0)=	
  
2
4
= 0.5 	
  	
   	
   	
   FR(PID)(s)=	
  KP

(1+TNs)(1+TVs)
TNs

	
  

	
  

2.	
  	
   FS(s) = 1
(1+ s)(1+ 0.25s)(1+ 0.5s)

	
  	
  	
  	
  à	
  FR(s) = KP
(1+ s)(1+ 0.5s)

s
	
  

	
   	
   	
   	
   	
   	
   (Man	
  kompensiert	
  höchste	
  Zeitkonstanten!)	
  
	
  

3.	
  	
   FW(s) = 2KP

s(s+ 4)
	
  	
  à	
  Charakteristische	
  Gleichung:	
  	
  

	
   	
   	
   	
   1+	
   2KP

s(s+ 4)
=0	
  	
  	
  	
  à	
   s2 + 4s+ 2KP = 0 	
  	
  

	
   	
   	
   	
   	
   	
  	
  	
  à	
  2Dω 0 = 2 	
  	
  	
  	
  	
  ω 0 = 2 2 	
  	
  	
  und	
  KP = 4 	
  
4.	
   	
   	
  

FW(s) =

8
s(s+ 4)

1+ 8
s(s+ 4)

=
8

s(s+ 4)+8
=

8
s2 + 4s+8
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1.	
  	
  	
   	
   FR(s) = KP
(1+TNs)(1+TVs)
sTN(1+ sTD)

	
  	
  	
  	
  	
  	
  	
  	
  	
  

	
  

2.	
  	
   	
   FS(s) = 1
(1+ s)(1+3s)(1− 2s)

	
  	
  	
  	
  	
  à	
  	
  	
  TN	
  =	
  3	
  	
  	
  und	
  	
  	
  TV=1	
  

	
  
3.	
  	
   	
   TD	
  <<	
  TN,	
  TV	
  	
  	
  	
  (z.B.	
  TD	
  	
  =	
  0,2)	
  


